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Foundation Tier

Question Key
A statins 3
B painkillers 4
One
C heroin and cocaine 2
D tobacco and alcohol 1
A 12 2
B 13 1
Two
Cc 22 4
D 62 3
A if the drugs have any side effects 2
B the best dose for the drug 4
Three
C if the drug is toxic 1
D if the effect of the drug is only psychological 3
A experiment 3
B hypothesis 2
Four | ¢ observation 1
D result 4
A kidney 4
_ B liver 1
Five
C ovary 3
D pituitary gland 2
A B C D
Six 2 3 3 4
Seven 4 3 2 4
Eight 4 1 3 2
Nine 2 2 4 1
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Question Key

A kidney 4

One B liver 1

C ovary 3

D pituitary gland 2

A alcohol 3

Two B ecstasy 2

C heroin 4

D tobacco 1
A B Cc D
Three 4 1 3 2
Four 2 2 4 1
Five 1 3 1 4
Six 2 3 1 4
Seven 1 4 3 3
Eight 2 1 3 4
Nine 2 3 3 1
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} Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefully.{
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Questions ONE to NINE Choose one response 1 - 4 for cach of the parts A -D

A/

( QUESTION ONE 1 2 3 4,
1A kid ney O @) (@) ()
1B liver O © O 0
1C  ovary ® e ® e
\"D pituitary gland B O @ O )
- QUESTION TWO 2 3 4
2A  alcohol @ @@ e
2B ecstasy G O 4 O
2C  heroin O 0 O O
!_\ZD tobacco O 0 O O
(" QUESTION THREE " QUESTION FOUR ) " QUESTION FIVE
1 2 3 4 1 2 3 4 1 2 3 4
3A O @ O O 4A O O O O 5A @ O O e
3B 0 O O & 4B 0 @] @] ®) 5B o o 0 o
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QUESTION SIX ) ( QUESTION SEVEN ‘ [ QUESTION EIGHT )
1 2 3 4 | 1 2 3 4 1 2 3 4
6A o O O O 7A o O ® O 8A o o o o
6B Ol © ©O 7B <Y 8B oc®R o o o
6C @] O @ O 7C O O O O 8C e} 0 ® ®
\ 6D O O @) O -4 | 7D = O O O ) | 8D O 0 0 & |
 QUESTION NINE
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FOUNDATION TIER

> Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefully.<
Questions ONE to NINE Choose one response 1 -4 for each of the parts A -D
A QUESTION ONE 1 2 3 4
1A statins ONNON SO &
1B painkillers ‘ .
1C heroin and cocaine ol
1D tobacco and alcohol ‘ .
QUESTIONTWO 1 2 3 4)
op 12
2B 13 D
2C 22 @)
2D 62 o
(I - QUESTION THREE 1 2 3 4
{SA if the drugs have any side effects j |
ag the best dose for the drug e
3¢ if the drug is toxic i y
3D if the effect of the drug is only psychological ® ‘ :
- QUESTION FOUR 1 2 3 4)
4A experiment @ 9 (@) e
4B hypothesis g G
4C observation 5 || &
14[) result 0 }\ .
( QUESTION FIVE 1 2 3 4°
5A kidney T
5B liver 0 O
|5C ovary ® C
‘_‘5D pituitary gland 3 & )=
QUESTION SIX QUESTION SEVEN QUESTION EIGHT
1 2 3 4 1 2 3 4 1 2 3 4
6A 7A 8A
6B 0 O C 7B g D 8B 4 O
6C ) R O O | 7C o o sC O O C
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"~ QUESTION NINE
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| For AQA Office Use Only
NN
- 2206 o S
o 0 12 M - 0TQs3

44579 8 4 2 1 Copyright AQA 2008 8





